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1. Find the unit digit of the product ( 879 x87 989x 9939 x 84329 )

(879x87 989 x 9939 x 84329 ) I[OTeTheT ahT sdnlé 37h AT A

@9 g/ Jo o

(b) 1

(c)8
o’

2. Find the unit digit of the product ( 9286 x 521 x 879 x 7285)

(9286 x521 x 879 x 7285) I[UTeIthel hl SIS 3ieh AT |
2 \f-/
(b) 1 G~/ O
(c)2

(d) 3

3. Find the unit digit of the product ( 987 x 821 x 98971 x 8§975)

(987,x 821 x 98971 x897§)mama:rgaﬁr§3ﬁﬁrraam %037\' !

(a)U -

(b)

?
o; 87 77 )

4. Find the unit digit of the no. ( 3975 - 825 x 3 + 5287 + 9999 x 9 )
HEAT & SHIS 37 (3975 - 825 x 3 + 5287 + 9999 x 9) AT |
[Sadicl

e f/?wwu

(c) 6
(d)5



-
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5. Find the unit digit of the no. (987525 x 2 + 100 + 98-7)

(987525 x 2 + 100 + 98 - 7) TEIT & ShIS 37h ATd IV |
(a) -

(b) 8

(c)3 OJ’O 4‘8"‘} “(

(d) 4

6. The digit in unit's place of the product 81 x 82 x 83 x...x 89 is

\W81x82x83x...x89$3ﬂémw%%| .

(

Eb))é 'L BT LB XRVY igf@g (B2 K BEKET
(d) 8 =

7. What is the unit digit of: 167 x 2183 x 497 x 839 x 235 x 111 x 1039 x 251 x 563 ?
167X2183X497X839X235X111 X1039X251 x 563 &T SIS 37 FAT &7

O s el

(c)1
(d)7

8.6185 x 6185 x 6185 999 times, then find unit digit.
6185 x 6185 x 6185 999 AR, ol BHTS Feh T F|
(a

0
(c)2
(d)3
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9. If the unit digit of 433 x 456 x 43N is (N + 2) then what is the value of N?
Tfe 433 x 456 x 43N &1 SH1S 37k (N + 2) &, dF N &1 AT a1 &

(@) 154

3
.,ng))sz_% ' Fri 'A 6‘}02
(d)6

pry =\ FHZ Y

10. Find the unit digit of the 4°7¢¢
45768 T SIS 37eh AT Y|

5

AN =S vl DA

346 A
2 r v£2:7
o N
- &

-

11. Find the unit digit (633)?* - (277)*° + (266)*
(633)24 - (277)® + (266)>* T SHIS 3 7T a1 |

(c)0
(d) 9

12. Find the unit digit of the 3%-3%
398389 [ SIS 37k ATT P

(a)5

(b

(c)7

(d) 8

2
3 -3
3 -3

|—adc =
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13. Find the unit digit 798-3%,

798-358 37 AT P
(a
)6
(c)3
(d) 4

14. Find the unit digit 4%°-4%,

4%9-4% ZeRTS 3ieh AT Y|
() 2
(b) 4
(c) 6

@5

15. Find the unit digit 28%°-28%.

gl — ¢

282°-2828 SHIS 37 AT P
a

(b) 4

(c) 6

(d) 8

16. Find the unit digit (35)%7 - (35)%.
(35)% —(35)% 3hTS 37k 11 H|

(a

(b) 5
(c) 2
(d) 4
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17. Find the unit digit (28756)% - (25672)*. 6 b g - "'z -P‘ O :(B
(28756)% - (25672)" TS 37 AT HY |
(a) 2 -
(b) 4
(c)6
(d)8
FA
s
18. What is the digit in the unit's place of the number represented by 3% - 3% + 7% @
39 _ 389 4 723 m&ﬁé@m?@éwwﬁﬂmﬁw 2 , %
(a)3 _
(0)6 3 -3 44

95 ik

19. Find the unit digit of expression. (922)'" - (328)""° - (156)'%* - (229)"" - (124)*°
(922)"" - (328)"2 - (156)"2 - (229)"" - (124)”° overline 04 vartheta4 T SHIS 3id AT HIfAT|

(@) 2" 23

®)5 B S o U B

(c) 4

(@2 ;} /g’ 6—%—Y4 - —-3tto()
§ ’ N o A

20. The unit digit of the expression 255°" + 36°%8 + 73% is? N—‘ vd

255251 + 36528 + 735 SToTeh T SIS e FAT &7 < ':)

(a) 6

o 46 4> o O

c

(d)0
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21. If x = (164)'%° + (333)%* - (727)"?® then what is the unit digit of x?
Ife x = (164)™%° + (333)%7 - (727)"% QY x T SHIS 37k FIT &2

(@3 6o 9 26
3 &
c u — S
(d)7 'Fg + 775 - _7 4—"0

u +3 —9

22. Let x = (633)%* - (277)% + (266)* What is the unit digit of x?

Lm;ﬁﬁv x= (633)% - (277)% + (266)>* T SHIS 37 FIAT §?
a L‘ Z

(b) 4 — 4+ 6
04 3 y) _ gen sz A0 = B
(d) 7 | — o 46 -
I *9AF
- "/
23. The last digit of the expression: 12+ 2% + 3% + 4° + 56 + 67 + 7° + 8% + 90 js: U%J(}
SUSTeh 12+ 2% + 3% + 45+ 58 + 67 + 7° + 8° + 910 & 37fi# 37eh &: '_

(@) 0

)6 —I—«/—ﬁ%#f«FC—}/A‘M—«L—B——l—{ (D

(c)1

©

(a)1

W (r b st ad i £ud ngm )
43 2 C}/-L/-L?’Jf/#% wL?[-P/*—L/( JD)

SXC -~/ 2

-
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25. Find the unit digit of the product (9459)%" * (644)%

_BT? (9459)8" * (644)%7 =T SHIS 3ieh AT I |

(a
(b) 4 ~
(C) 9 6 X \« -

(d) 8

26. Find the unit digit of the no. (7493)%3 * (159)%°
(7493)23 * (159)%3 TEIT HI SHTS 37 AT B
(a) 1

03
C

(d) 4

27. The digit in unit's place of the product (2153)'" * (8267)"*®

Tt (2153)'7 * (8267)'%° ShTS AT T 377 ¢ |
(a) 2 i

(b) 3

©)7 3K 7

(d) 1 ? 7< 9/

28. The unit's digit in the product 7" * 6% * 3%° is?
IUTeTtheT 7' * 6% * 3% 71 SehlS T 3feh FAT B2

(a)1

(b) 2

(c)3

(d) 4

2 €

6 AN
=3 ><6/
2 X B

Fx3 (39

is:
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29. Find the unit digit of expression: (424)"" * (727)'8 * (828)'%°

(424)"" * (727)188 * (828)'9° cTTeh T ShIg 37k AT Y

(@) 3

(b) 4 Y ¢ iZU\ %@Z

@;/ﬂ ux |y Z

30. Find the unit digit of the product (6324)'7 * (615)%'® * (341)*

(6324)"2* (615)*'° * (341)*"® I[UTIthel I SIS 3ieh AT Y|
(a)1
(b
BT YK
(d) 3

31. Find the units digit of the expression. 11" * 122 * 13° * 14* * 15° * 16°
TSI I SIS 37k ATT Y| 117 * 122 % 133 * 144
(a)3 = -
(b) 4
c

d)7

32. What is the unit digit of (217)*12.* (819)%7 * (414)° * (342)%12 -
(217)%13 * (819)%47 * (414)°2* * (342)%"2 T FehTS 3eh FAT &
(a) 8

o) D Y\ XL

(c) 6
@
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33. Find the unit digit of the product (81)1°1 * (82)10% * (83)105 * (84)107 * (85)10° * (86)'" * (87)'"

W(81)101 * (82)103 * (83)105 * (84)107 * (85)109 * (86)111 * (87)113 wm%mﬁl
(a) 1 — — -_— ~—
(b) 2

(c)3
9o~

34. The unit digit of (198'0" * 644%%%) + 529" - 207% - 34356257
(198101 * §44255) + 529132 _ 20785 - 3434362588 &1 SHIS 3k AT &2
(a)1

|

(b) 2 —

04 B8XN | —F—F s

(d) 5 2 4 - I-D = 6 +10 = Y

’:(7

L7

35. The unit digit of (8733817 + 1693°%%) *(7339'7%6 - 24431") x 5827°% is: U %N_)

(8735%27+ 1693%9) *(733912% - 244°"") x 582795

(

(b) 4 (5#3) R(1-4D ~ H

(c)6

(d)8 X I X J

k/Gi/@

36. Find the unit (8735)%7 + (16934%) * 7359125 _24431) x 58279%5

(8735)827 + (1693469) * 73591256 _24434y X 5827%5 FahTS 3ieh AT Y|
(a)1
(b) 2
(c)3
(d) 4




#%‘m«mﬁm

37. If x is a positive integer, what is the unit digit of (24)®* " * (33) ®* 13 * (17)%*2 x (9)* ? If& x Teh YeATcHD

qUITeh & T (24)* D * (33) %+ 19 % (17)* 2 x (9)2 T Sehls 37k T GIIN?
(a)4 dn +1 ML M+ 9 =
Be  WTZ—5% 7 v§ ——_
@7 \£)
@s () TEL ML

Yy X3 rZg ,

U X 9 x3Xi QD U,(%XBX‘

- TE
38. (1875k)" has unit digit 6 then find possible value of k.
(1875k)7? T SohTS 37 6 & dT k T FHIfAT AT AT AT Hxa L7 X |

(a)1 —
0 P & @D .
M 4

(d)7 -
A

22556 33y I AT HIT|
(@) 5
(b) 4
(c)6
(d) 2

. Yo 66 33 (
39. Find the unit digit of the no. 225> =, é 6

40. The unit digit of (137'%)% is:
(137'%)*8 ot 3P g 1% 13
(a
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a O
¥ Enata © (0D
41. What is the unit digit of the sum of first 111 whole numbers? K
SAUH 111 qOT HEAT3T & TN9T T FHTS 3 AT g2
(a) 4 e m e o ND
(0)6 o4\ L2 £\ S
(c
75)’5/ Mo 1Y
_
-
(Cﬁ ) 27 = 2-’><'
42. Find the unit digit of the no. 4/569 Y 2! -+ TX2X|
41569 3 AT HfoT| ‘
(@ U‘@) TRERSIE 4 el
)3 , v R3IOX[
©)7 S\ r=
(d) 8

(97382 x 2348%2) =7 Tohé 3% M 2|

Y
@2 G PR

(€)7 (d 9 \ )<€
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If N=[1+]2+|3+[4+.....+|100 then find the unit %
digit. <4
afg N=|1+2+|3+[|4+.....+[100 % & T&E 3% 7@ 9
Hﬁﬁm - — %0
0 or 0
(c)7 (d) 8
, vo ol —~
trda £131 ky! .l—/’“w-) Py :zm:?
— g = O LT
fo 2 3! :\,.,e'];(?’(/;gy
) 4+ Z --LC-L 4—-2\\ \/)/@ Y : Q)/UKJ’(‘?’(' ’D’(
//- /0 g' (P (’x -
0 61 » befXWAAIA

\

[}

\

P REAN I Xy
=2 :7<~6'm6‘,,



